Subtraction Strategies

O Count'bcckwards to subtract.

() Count forwards to subtract. i

w__
ol
(9]
(@)]
~
o
ol
=1

8-5=3 0 | 2

e N T T A

w 4+
e e
w1+
(o)}
~
(0]
0
o

[

_—

1a-6=32_ o | 2

' 10-7=3_ 0 | 2 3 4 5 6 7 8 4 10 :

I () Take away the coloured circles to subtract. .
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() Write 4 more subtraction sentences with the same answer.
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(J Make an easier problem with the same answer.
D Subtract
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(J Subtract.
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() Write more or less.
(J Subtract. - TR
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£ ]Solve 78 — 9 in two ways.
£ ]Bonus: Solve 78 — 9 in a third way.
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More Subtraction Strategies

CJ Count on to subtract
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(J Subtract by adding. A
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(0 Subtract by using tens and adding.
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